Efficiency vs dr

x 0.0

—=— DQM_mkFit_TTbhase

-| —*— DQM_mkFit_TT_retrainOldFiles125

. o
T T ITI

1072 107

=
O
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001

1073 1072 107t
AR(TP, jet)

Efficiency vs pu

500
i S N

D009t
]V R R AT RS SIOSIE SRS SNLE S
o : : : : : :

o Rt ST SRS ST S
= : : : : : :

R Rt SILE SES ST S
O S L SR SRS SR S
0,004 -+ 5eesrien e
e A S R A
L R ) AN S A SIS
0.001F-++iereeieeffiee oot
0] | At b, - ...... I

Ratio

20 30 40 50 60 70 80 90 100
Pileup



	Contents
	Page 1


